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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.
A Each question cagries 10-marks and may-have a, b, ¢ as sub questions. e A,

5 T,

(25 Marks)

l.a)  What is cut set matrix? 2]
b)  Define: i) Flux ii) Reluctance iy M.M.F. [3]
¢}  What is balanced supply and balanced load? [2]

d)  What js the significance of phase sequence? . ] -

¢) Sketch thie DC responisc of RL circuit and fesponsg eurve. i
i ) /Défine time constant of R-C circiiit exeiied d.c solres, . . PO
g)  Define Port and Two-port network. 2]
h) Two two-port networks with transmission parameters A, B;. C;, D; and Az By, C;, D,

respectively are cascaded. What is the fransmission parameter matrix of the cascaded

network? [3]
What is the function of a band elimination filter? [2]

/What'is'a high pass filtéz? In what'respécis it is different from a low'pass fitter?  [3}

P;&RT-B A R

! BN

Ao
E £

g
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2.a)  Explain self inductance and mutual inductance.
b)  Find the value of XL in the coupled network shown in figure 1 for making it series

resonant. [5+5]
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Figure: 2

connected Idad is conhected” acrbss.a ‘balancéd

agnetic.Induction, ...

supply. Find the wattmeter reading connected in the circuit shown in figure 3.

Three impedances Z, = 6.290°, Z, = 6./0° and Z, = 6.£-90° ohms are connected in star,

g ¥y

A balanced three phase three wire s
three loads in parallel: -j 100 ©, 100

with Vg, = 400 £0° volts. Find (iyVv
total power drawn by the load,
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The sw:tch in Frgure4 has beenmp
* to B.'Determiné v(t} fort> 0 and cali

of the equivalent deta, Derivgthe formula used,
“OR { S e
ystem has a Y-connected load. Each phase contains
{2 and 50 + j50 Q. Assume positive phase sequence
an (i) Ty (iii) The power factor of the load (iv) The
[10]

o’isitiop A fo;:-‘?ﬁflg}ig t—ir;ne. At} :the«;switch mqve
culaté its value at t=-1's and 4 g, + Lo
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gé for t<0 and t>0 for each ci;cﬁ'int'"s:hown ;ﬁguré 5.7
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OR
7.a)  Att=0, switch I in Fj 1gure 6 is closed and switch 2 is closed 4 s later, Fmd 1(‘[) fort > O
Cglculate i fort 7 2 5/ and t=5s. A . FANa g
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b) The swntch has been in posmon a for a long time as shown in fi gure 7 At t—O it moves to
position b. Calculate i(t) for ali t > 0, {5+5]
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8.2)  Explain different types network functions as applied to single port and two port network.
Obtain Y, of the given network shown in fi igure 8.
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9.a) Find drlvmg point impedances Z;; and Z,, transfer impedances Z,, and Zu for the
network shown in figure 9.

Figure: 9

b) @btam the relatlcmshlp between Zand._,h'parameter:s,'_ o, [545] .,
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Derive the equations
passfilter.

to find the inductances and capacitances of a constant K high
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